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QUESTION 1

Which is the following statement are true regarding application control? (choose two) 

A. Application control is based on TCP destination port numbers. 

B. Application control is proxy based. 

C. Encrypted traffic can be identified by application control. 

D. Traffic Shaping can be applied to the detected application traffic. 

Correct Answer: CD 

 

QUESTION 2

Which of the following statements describe some of the differences between symmetric and asymmetric cryptography?
(Choose two.) 

A. In symmetric cryptography, the keys are publicly available. In asymmetric cryptography, the keys must be kept
secret. 

B. Asymmetric cryptography can encrypt data faster than symmetric cryptography 

C. Symmetric cryptography uses one pre-shared key. Asymmetric cryptography uses a pair or keys 

D. Asymmetric keys can be sent to the remote peer via digital certificates. Symmetric keys cannot 

Correct Answer: CD 

 

QUESTION 3

Which of the following statements is correct concerning multiple vdoms configured in a FortiGate device? 

A. FortiGate devices,from the FGT/FWF 60D and above, all support VDOMS. 

B. All FortiGate devices scale to 250 VDOMS. 

C. Each VDOM requires its own FortiGuard license. 

D. FortiGate devices support more NAT/route VDOMs than Transparent Mode VDOMs. 

Correct Answer: A 

 

QUESTION 4

What are the advantages of FSSO DC mode over polling mode? 

A. Redundancy in the collector agent. 
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B. Allows transparent authentication. 

C. DC agents are not required in the AD domain controllers. 

D. Scalability 

Correct Answer: C 

 

QUESTION 5

Which of the following statement correct describes the use of the "diagnose sys ha reset- uptime" command? 

A. To force an HA failover when the HA override setting is disabled. 

B. To force an HA failover when the HA override setting is enabled. 

C. To clear the HA counters. 

D. To restart a FortiGate unit that is part of an HA cluster. 

Correct Answer: A 
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